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_W_ Practice

Applying Trigonometric Functions

Solve each problem. Round to the nearest tenth.

1. If A = 55° 55’ and ¢ = 16, find a. A
13.3
2. Ifa = 9 and B = 49°, find b. b c
10.4
3. If B =56°48" and ¢ = 63.1, find b. c ~ B
52.8
4. If B =64°and b = 19.2, find a.
9.4
5.Ifb =14 and A = 16°, find c.
14.6

6. Construction A 30-foot ladder leaning against

the side of a house makes a 70° 5" angle with the
ground. 0
a. How far up the side of the house does the .
ladder reach? 0O soft
about 28.2 ft 0 O
OO f\70°5

b. What is the horizontal distance between the
bottom of the ladder and the house?

about 10.2 ft

7. Geometry A circle is circumscribed about a regular hexagon with an
apothem of 4.8 centimeters.

a. Find the radius of the circumscribed circle. about 5.5 cm
b. What is the length of a side of the hexagon? about 5.5 cm

c. What is the perimeter of the hexagon? about 33 cm

8. Observation A person standing 100 feet from the bottom
of a cliff notices a tower on top of the cliff. The angle of
elevation to the top of the cliff is 30°. The angle of elevation
to the top of the tower is 58°. How tall is the tower?
about 102.3 ft
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